X 2 (hfTs 7 55 2 THER)

. A L 4
2. N L H H
3. AHL K OVBH AL 5 A
4. % L & #
5. % L ¥ #

A& xHEF

e R A/ N ZE R A T
PR3 14 1H 16H
Z=ESLIECE

56, 376, 000H
i b Tkl

RERHR ma =1

6. AN M B 4T & AR VEE 92
T.N MW W

B AN EFE A B & N #L % 1 =
(FR FH A 52, 800, 000 [
FEE R ) 52, 500, 000 [
fe T2 52,200,000 [ | % L
ENER R 53, 000, 000 [
KT 53, 000, 000 [
(RS ST 52, 500, 000 [
AT HTAT7IZLE 53, 300, 000 [
Cr=y 52, 500, 000 [

¥ € ffi ¥ 57,585,600 1
AR FRAmES 51, 289, 200

1. PEMENAL 30 THEBZ A2V E DR OARTERNEDITRL,

X2, TEMBEIARSNE

SaOHFLHT %,




